Lecture 36

Monday, December 4, 2017 18:16

To do...

® Quiz 7 next week
® Last day of office hours and piazza help: Wed, Dec 13

® No discussion sections next week

e HW 24 PL due Tues
e HW 27 ME due Sat
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The 2-m-wide rectangular gate is
pinned at its center A and is
prevented from rotating by the
block at B. Determine the reactions

e at these supports due to hydrostatic

pressure .
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Determine the magnitude of
the resultant force acting on
the gate ABC due to
hydrostatic pressure. The gate
has a width of 1.5 m and the
density of the water is 1000
kg/ m?.

phw X T

e

W,

\
.’____’4
.
\)

|

M veSultAnt )5‘7“5 =
AR




A (\SM\( E%\(%z—z) (15 g)ea)= T

V\; \’\\\”\\2: M‘%* U% ) 306(9")'21\
(ol st ) Al

Tz oW

—Fﬁ s*\c"-{ = \02 \ad




Page 4

Monday, December 4, 2017 18:16

* T A cube of material with edge lengths
d and specific weight 2y is suspended

by a cable and is submerged to a

depth d in a fluid having specific

weight . Determine the force Tin

L]
i
d the cable.
i

] prAw I TBD %J«w cube

e d — A
'3 |
R AL N

% ! f; -

- QI 7
£\ W

=\ | L\
’F;B

Lectures Page 6






Determine the magnitude and
location of the resultant hydrostatic
force acting on the surface of a
seawall shaped in the form of a
parabola. The wall is 5 m.The
density of the sea water is 1020
kg/ m’
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Wednesday, November 9, 2016 11:10

Determine the magm'tude of the

hydrostatic force acting on gate AB
which has a width of 1.5 m.
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Thursday, Nov

Determine the magnitude of the
hydrostatic force acting on gate AB
6 ft which has a width of 2 m.The
specific weight of water is 62.4

A b/f.

4ft| wlc&% (D: QM
b 3 ft 4 x QZ A Ib/Hg

W

2

|
fi ﬁ\ = -‘F‘ \*E_ SN ,-2) + "Z(«ZL'Z.X%"-’*%}

VL s ebl) ¢ 3 bR

£ ah2(2 _92\2 Laak(?-—%.Y;.—,z\




'“‘H"-’ J"du T YT ) v« -)d_, wy ‘A~¢ -,

5. = 33\0(22—%.3[%. 4 lz(%z'z.)j
= 5 S (202 2)

/H\L \leu-fcq,o c;uwon{—nJr S ouu\(Q us: n% .
N\Moc& T
ty= %"E“ WX — 8(3\/
i fo- pbx - 59s (x )
4

3 TW[ 1, - f@\)\"zz - 2_?319* (‘22"2\\
3‘/‘{ - 33\91 ( % iz('?z "2»)
o= 3 99b x (7,42,)

——

—\M MagnihclE ot W wﬁﬁ_ ‘G;f(g N

———

. ~2 \Z

HRESS



AR vV v

B

————

2

B < (& stoleonite,-a) s (dssbiesaan

Gl epcaViaat e |

M?J(Lo(ﬁ I use towmpste Aveps!

&

\ \\\\\\\\

T

ff_w_;“t%_ \Z
24‘“ %’ <—-—-‘ /

Y hotizopkal  Gponent I Yhe Shug As Aboue.
U \Jm«‘caﬂ @upot\eﬁ S M waéﬁu of
ke Aboue M ﬂA'h; .

) 7

<z
Sf.'_PO\\n/\L.’lL'Lx(:: —-2\\ =

f‘

)



‘?z

- 99b (x2, + £x (:22——2,\>

Co s (a0g) & e Moo

~———————————




’.1 m-‘ The factor of safety for tipping of

the concrete dam is defined as the

ratio of the stabilizing moment due
to the dam’s weight divided by the

overturning moment about O due

to the water pressure. Determine
this factor if the concrete has a

density of 2500 kg/ m? .
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Chapter 11: Virtual Work

Main goals and learning objectives

* Introduce the principle of virtual work

* Show how it applies to determining the equilibrium
conﬁguration of a series of pin-connected members
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Sunday, November 27, 2016 23:21

Definition of Work

Work of a force s T T

A force does work when i A O
orce does work when it undergoes a / e t\‘ AN

displacement in the direction of the line of : G dr; '

action. F -

The work dU produced by the force F when

it undergoes a differential displacement dr is
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Definition of Work
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